[d” sum p_/dnd¢{GeV]

Ratio to ATLAS

=
IN

=
N

0.8

0.6

0.4

0.2

[EEY

0.5

900 GeV p

Underlyin
I | I

g Event

~ B ATLAS

--3-- Herwig 7.2.0 default
- ¢ Sherpa 2.1.0 default

_ Sum(pT) Density (TRNS) (h| < 2.5, p>0.1 GeV)

L X SE S R 2
- e S . e ‘ _
B ""_’_.Q 4 . ¢ L Y SO S R |
| 0"""* mgun® g .o {il -
- 4 gu YR - S B N
L ' nH ELEREREpEa B-4-- n ] ]
4 H ]
— N —
~ o -
Y. |
| ]
N | | | | | | | | | | | | | | | | | ]
:I T | T T T | T T T | T T T | T T T |:
- 0 ....... .. . =
L 9~-~¢--Q..Q..‘_.Q.‘..’.-Q--0"0.. SN I DU o S _|
| _ ’ ” " E‘-\ ’ ,/ H
\\E’LEEE‘EHH-EHH g--4--- Sy o
- 51 - S _|
B EIE‘EI'EE—' |
1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
2 4 6 8 10

Rivet 3.1.0, = 6M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5

P, (leading track) [GeV]



	Contents
	Page 1


